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Idea : We are not interested
in arbitrary events,
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events that can be described by A leaving
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Back to dice
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A random variable E : S → 42

is discrete if it has only finitely (or countably )

many
values Kei . . .

,
Xu , - e -

It is continuous if it takes
a continuum of values

(e.g . weight, . . .)

Dee. The Council) distribution function

of It is
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Distribution for It = Dr t D2
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F answers all probability questions about It .
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Example 25 a) Suppose An F
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All distribution functions satisfy
. O E Fox ) El ? since taxi
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